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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2011 

LIFE SCIENCE 

LSE-06 : DEVELOPMENTAL BIOLOGY 

Note : Answer Part-I and Part-11 in separate answer copies. 
Answer the questions as per instructions in each part. 
Draw labelled diagrams, wherever necessary. 

Time : 2 hours 
	

Maximum A'larks : 25 

Note : Q. No. I is compulsory. Attempt any four questions 

from Q.No. 2 to Q.No. 7. Give figures wherever 

necessary. 

PART - I (PLANTS) 

1. 	(a) 	Choose the correct term given in the bracket : 	2 

(i) The exine proteins of pollen grains 

have (gametophytic/sporophy tic) 

origin. 

(ii) The endosperm of gymnosperm is 

differentiated (before/after) fertilization. 

(iii) Apical dominance is regulated by the 

plant hormones (Auxins/Gibberellins) 

(iv) Parts of the plant like leaves undergo 

(senescence/growth) after maturation. 
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(b) 	Fill in the blanks : 	 2 

(i) In 	 ovule no curvature 

occurs and the micropyle lies in a 

straight line with respect to the 

funiculus. 

(ii) The tissue produced by phellogen 

adaxially is called 	 

(iii) The filiform apparatus of the 

synergids is similar to the spongy cell 

wall of the 	 cells. 

(iv) The 	 wall surrounding the 

microspore serves as a mold during 

the formation of exine. 

(c) Write technical terms for the following 	1 
statements : 

(i) A fruit-type wherein ex oca rp, 

mesocarp and endocarp are 

distinguishable and are fleshy, and the 

fleshy pericarp encloses one to many 

seeds. 

(ii) A state of suspended growth and 

metabolism. 

(a) How does megasporogenesis differ from 

that of microsporogenesis ? 

(b) What is the role of suspensor during 	2 
embrvogenesis ? 
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3. 	Differentiate between any two of the following : 	5 

(a) Fusiform initial and Ray initial 

(h) Storied vascular cambium and Non-storied 

vascular cambium 

(c) Heart wood and sap wood 

	

4. 	(a) Mention one contribution each of any four 	2 
of the following : 

(i) G. Morel 

(ii) F. Skoog 

(iii) San Noeum 

(iv) S. Guha and S.C. Maheshwari 

(v) F. Laiback 

(b) Describe briefly the applications of 	3 

techniques based on apical dominance in 

horticulture and agriculture. 

	

5. 	List and write briefly the various methods to 2+3 

overcome incompatibility in flowering plants. 

	

6. 	Describe the experiments that led to the discovery 	5 

of auxins. 

	

7. 	Write short notes on any two of the following 	5 

(a) Nutrition of embryo-sac 

(b) Mature monocotyledon embryo 

(c) Nuclear endosperm 

(d) Aril 
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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2011 

LIFE SCIENCE 

LSE-6 : DEVELOPMENTAL BIOLOGY 

Note : Answer Part-1 and Part-11 in separate answer copies. 
Answer the questions as per instructions in each part. 
Draw labelled diagrams, wherever necessary. 

Time : 2 hours 
	

Maximum Marks : 25 

Note : Question Number 1 is compulsory. Attempt any four 

questions from Q. No. 2 to 6. 

PART - II (ANIMALS) 

1. 	(a) 	Fill in the blanks : 
	

1/2)(4=2 

(i) During the development of heart, the 

coelom enlarges to form the 

(ii) The process of formation of sperm 

from spermatid is known as 

) The testes of the male human foetus 

descend into the scrotal sacs from the 

abdomen in the 	 month. 
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(iv) In amphibian oocyte, the lamp brush 

chromosomes are clearly visible in 

	 stage. 

(b) Indicate whether the following statements 

are true or false. 	 1/2)(4=2 

(i) Each polar body produced as a result 

of meiosis is a potential ovum. 

(True/ False) 

(ii) In terrestrial environment, insects are 

the only group that pursue a free larval 

life. (True/ False) 

(iii) In human, it takes 100 days to 

complete 	the 	process 	of 

spermatogenesis. (True/False) 

(iv) Just after gastrulation, different germ 

layers of the gastrula get separated 

from each other to form tissues and 

organs. (True/False). 

(c) In human development following organs 

are derived from which germ layer ? 	1/2 x 9 =1 

(i) Skeleton 

(ii) Liver 

2. 	(a) Describe the mechanism evolved by the eggs 	3 
to prevcnt polyspermy. 

(b) 	State four types of eggs classified on the basis 

of amount of yolk present in them. 
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3. With the help of suitable diagrams, describe the 	5 
different types of morphogenetic processes. 

4. Describe the process of regeneration of limb in 5 

Urodele amphibians. 

5. (a) Describe any three biochemical changes 	3 

during anuran metamorphosis. 

(b) Write short note on Neoteny. 	 2 

6. (a) Draw a labelled diagram of a median 21/2 

longitudinal section of hen's egg to show the 

egg envelopes. 

(b) Distinguish between mosaic and regulative 21/2 
eggs. 
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